Angle Theorems

(5b) Opposite angles of a cyclic quadrilateral are supplementary.

ZABC + ZADC =180° (opposite[s In cyclic quadrilateral =180°)

Prove:a + £ =180
Proof: Join AO and CO
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(5¢) The exterior angle of a cyclic quadrilateral is equal to the
opposite interior angle.

exteriorZcyclic quadilateral
£LDCX = £ZBAD e :
= Opposite Interior/
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D
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(6) Angles subtended at the circumference by the same or equal arcs
(or chords) are equal.

JABD = /ACD (£'s in same segment are =)

Prove: ZABD = ZACD
Proof: Join A0 and DO

Zat centre twiceZat
ZAOD =2/ABD _
circumference on same arc

ZAOD =2/ACD

Zat centre twiceZat
circumference on same arc

;S LABD = ZACD

Exercise 9C; 1 ace etc, 2 aceq, 3, 4 bd, 6 bdf, 7 bdf, 9, 13, 14
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